1. EXAMPLE

Gauss elimination: From a given matrix find a row equivalent matrix on reduced echelon
form by using elementary row operations.

Example 1.1.
-2 1 6

-5 —13

1
0 1
0 0 1 3

Example 1.2.

0O 1 -5 —13

-4 7 4 =2
Example 1.3.

2 -4 2 12

3 -5 =2 5

-4 7 4 =2

Example 1.4. Solve the following system of linear equations.
2.T1 —4[[‘2 —|—2.Z‘3 =12
333'1 —5.]72 —21’3 =5
—dxy +Txy 4z = —2
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2. EXAMPLE

Example 2.1.

3 2 =5 -1
02 -5 29
00 5 =35

Example 2.2.

3 2 =5 -1
1210 =25 25
0 —4 15 -93

Example 2.3.

30 20 =50 -—10
12 10 =25 25
15 8 —15 —69

Example 2.4. Solve the following system of linear equations.
30z; +20xy —5H0x3 = —10
121’1 10!132 —251'3 =25
1527 +8z9 —1bx3 = —69
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